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2-phase Stepping Motor

103H782[]
60mm Sq. 18Istep
(2.36inch sq.)

Recommendable Driver
Refer to the page 7,17,27 and 45.

Unipolar winding

103H7821-0140 | -0110 0.78(110.5) 1 |57 8.3 0.275(1.50) | 0.6(1.32)
103H7821-0440 | -0410 0.78(110.5) 2 (15 2 0.275(1.50) | 0.6(1.32)
103H7821-0740 | -0710 0.78(110.5) 3 068 0.8 0.275(1.50) | 0.6(1.32)
103H7822-0140 | -0110 1.17(165.7) 1 169 14 0.4(2.19) 0.77(1.70)
103H7822-0440 | -0410 1.17(165.7) 2 (18 3.6 0.4(2.19) 0.77(1.70)
103H7822-0740 | -0710 1.17(165.7) 3 |08 1.38 0.4(2.19) 0.77(1.70)
103H7823-0140 | -0110 2.1(297.4) 1 10 21.7 0.84(4.59) 1.34(2.95)
103H7823-0440 | -0410 2.1(297.4) 2 |27 5.6 0.84(4.59) 1.34(2.95)
103H7823-0740 | -0710 2.1(297.4) 3 125 2.4 0.84(4.59) 1.34(2.95)
Bipolar winding
103H7821-1740 | -1710 0.88(124.6) 4 035 0.8 0.275(1.50) | 0.6(1.32)
103H7822-1740 | -1710 1.37(194.0) 4 043 1.38 0.4(2.19) 0.77(1.70)
103H7823-1740 | -1710 2.7(382.3) 4 065 2.4 0.84(4.59) 1.34(2.95)
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103H7821-0140/0440/0740 (Single shaft)
103H7821-0110/0410/0710 (Double shaft)

Applicable connector :JST Mfg.Co.,Ltd
: VHR-6N

103H7822-0140/0440/0740 (Single shaft)
103H7822-0110/0410/0710 (Double shaft)

Connector Applicable connector :JST Mfg.Co.,Ltd
Terminal : SVH-21T-P1.1 Connector : VHR-6N
Terminal :SVH-21T-P1.1
Cross section S-S Cross section S-S 16005
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[160+05
([J2.36+.02)
15.5:1 85.8:0.8 20.6:05 4-5020.13
(.61=.04) (3.38+.03) 7 (.81=.02) (4-1.97+.005)
" (-28) . A MAX
15 0 1065; Pin No
(59"00) = 5 " 1 GE
(effective length) [ +04 =
(:59"00) AT
—_ x
ds | gle RNk
— 78| ¢ §
] - bl Y ® &
1 \rawm. L ©
RISTMIN.) RIEMN | 5T 05
g gg o2 g8 41:4.5*2'2
°§ 8% 8 = (4-g.18"00)
& 3
=
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In-vacuum
stepping motor

2-phase
synchronous motor
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Sanyo constant current circuit

Source voltage: DC24V Operating current: 1A/phase, 2-phase energization (full-step)
Ju11=[0.94x10kg-m? (5.14 0zin?) Use the rubber coupling]
J12=[0.8x10*kg-m? (4.37 0z-in?) Use the direct coupling]

@ 103H7821-0440
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100 1000 2000 3000 5000
Number of rotations (min-')
Sanyo constant current circuit
Source voltage: DC24V Operating current: 2A/phase, 2-phase energization (full-step)
Ju1=[0.94x10"*kg-m? (5.14 0z-in?) Use the rubber coupling]
J12=[0.8x10"*kg-m? (4.37 o0z-in?) Use the direct coupling]
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Sanyo constant current circuit
Source voltage: DC24V Operating current: 3A/phase, 2-phase energization (full-step)
Ju1=[0.94x10"*kg-m? (5.14 0z-in?) Use the rubber coupling]
J12=[0.8x10"*kg-m? (4.37 0z-in?) Use the direct coupling]
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Sanyo constant current circuit

Source voltage: DC24V Operating current: 1A/phase, 2-phase energization (full-step)
Ju1=[7.4x10"*kg-m? (40.46 0z-in?) Use the rubber coupling]
Ji2=[7.4x10"*kg-m? (40.46 oz-in?) Use the direct coupling]
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Sanyo constant current circuit
Source voltage: DC24V Operating current: 2A/phase, 2-phase energization (full-step)
Ju1=[7.4x10"*kg-m? (40.46 0z-in?) Use the rubber coupling]
JL2=[7.4x10*kg-m? (40.46 0z-in?) Use the direct coupling]
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Sanyo constant current circuit
Source voltage: DC24V Operating current: 3A/phase, 2-phase energization (full-step)
Ju1=[7.4x10"*kg-m? (40.46 0z-in?) Use the rubber coupling]
Ji2=[7.4x10*kg-m? (40.46 0z-in?) Use the direct coupling]



@ 103H7823-0140
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Sanyo constant current circuit
Source voltage: DC24V Operating current: 1A/phase, 2-phase energization (full-step)
Ju1=[7.4x10%kg-m? (40.46 0z-in?) Use the rubber coupling]
J12=[7.4x10"%kg-m? (40.46 0z-in?) Use the direct coupling]
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Sanyo constant current circuit
Source voltage: DC24V Operating current: 2A/phase, 2-phase energization (full-step)
Ju1=[7.4x10%kg-m? (40.46 0z-in?) Use the rubber coupling]
J12=[7.4x10"%kg-m? (40.46 0z-in?) Use the direct coupling]
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Pulse rate (kpulse/s)

100 1000 2000 3000 5000
Number of rotations (min-')
Sanyo constant current circuit
Source voltage: DC24V Operating current: 3A/phase, 2-phase energization (full-step)
Ju1=[7.4x10%kg-m? (40.46 0z-in?) Use the rubber coupling]
J12=[7.4x10"%kg-m? (40.46 0z-in?) Use the direct coupling]
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Sanyo constant current circuit
Source voltage: AC100V Operating current: 4A/phase, 2-phase energization (full-step)
Ju1=[2.6x10*kg-m?(14.22 0z-in?) Use the rubber coupling]
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Sanyo constant current circuit
Source voltage: AC100V Operating current: 4A/phase, 2-phase energization (full-step)
Ju1=[2.6x10*kg-m?(14.22 0z-in?) Use the rubber coupling]

@ 103H7823-1740

5
7004 90
600
40 4
500
z 530 E 3
54001 5 z
3 2
° = ®
] ° El
5 s g i
83001 5 20f i 2
= Pull-out torque at Ju1
200
10 1
100
0 0 0
0.1 100

1 10
Pulse rate (kpulse/s)

100 1000 2000 3000 5000
Number of rotations (min-1)
Sanyo constant current circuit
Source voltage: AC100V Operating current: 4A/phase, 2-phase excitation (full-step)
Ju1=[7.4x10%*kg-m? (40.46 0z-in?) Use the rubber coupling]
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In-vacuum
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